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Let us require two witnesses - %30 opad

OVERVIEW

The X n3 asks; according to 7127 who is concerned that the v was written
WY XPWw, since the 9™ °12 are not WY 1X°pPa, we should require that two
07y testify that this V3 was written 77»%% and only then to permit the woman
to get married. However we have already learnt in a previous 'msoin that
there is no real concern of W5 RW, only a concern of 1% N7, why does
the X773 require two witnesses.
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The X723 did not know at this point (of questioning that we should require
two witnesses) that which I previously’ explained that the reason for
saying 1"92 on account of 7nwH PX°Pa PR is not that we actually are
concerned that the vy was written WY X5, but rather we are concerned

only on account of false gossip; the X712 did not know this until the end of
the X210, when the X m3 realizes that there is no real concern of > X9w only of 13> that
if the husband will claim that it was not written nnw> people will gossip about this
woman and any children she may bear in the future.’

SUMMARY

When the X713 asks that we should require two 2°7v, the X723 thought there
is a real wwn of WY X7>w. Only later was it made clear that there is only a
vwn of (MY and) V7 DRXI.

THINKING IT OVER

It seems obvious (as stated in the previous NMdoIN referenced here) that only
after the X723 concludes >7°»2 *750 QNOY 177 1PX°P2 217, do we realize that it is
only a wwn of 1v%; why does m2o1n need to reemphasize it?’

! ("am) 9% "7 Mmoo

2 ("an) *9% 7"7 Moo

3 Since *7°m3 790 oNOY PR 21N,

* If the xm3 knew that the only concern is gossip, the X7 would not ask that we require two witnesses just
to dispel rumor and gossip. For this the m%w is sufficient as the &3 will shortly conclude. At this point the
X3 assumed that there is a real wwi of w5 ®5w, therefore the Xn3 demanded that there be two 077,

> See 72791 17"7 232 YW O,

TosfosInEnglish.com



